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Which two tools can you use to create charts for a dashboard that displays metrics for your
BPM project? (Choose two.)
 
 
A. BPM Studio 
B. BAM Composer 
C. BPM Process Composer 
D. BPM Process Workspace 
E. WebCenter Process Spaces 
 

Answer: B,D

 

 

Which two statements are true for decision table rules? (Choose two.)
 
 
A. They can have multiple conditions, but share only one action. 
B. They typically contain a set of rules that covers all combinations or where no two
combinations conflict. 
C. Both gap detection and conflict resolution cannot be turned off at the same time. 
D. A priority can be set for an entire decision table. 
 

Answer: B,D

Explanation: A Decision Table is an alternative business rule format that is more compact

and intuitive when many rules are required to analyze many combinations of property

values. Youcan use a Decision Table to create a set of rules that covers all combinations or

where no two combinations conflict. 
Reference:http://docs.oracle.com/middleware/1213/bpm/bp-composer-
user/business_rules_bpmcu.htm#BPMCU495
 
 
 

 

 

Which two statements are true about out-of-the-box metrics support in BPM Suite?
(Choose two.)
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A. If you want to know average time spent in each activity in your process, you can look at
the workload per process dashboard in Business Process Workspace. 
B. By default, in standard dashboards that display data about in-flight instances, there is a
30-minute delay before up-to-date data appear in the charts. 
C. You can only view out-of-the-box metrics in charts created in Business Process
Workspace. 
D. During process execution, when a sampling point is reached, the BPMN Service Engine
collects all standard process metrics that are prespecified out-of-the-box. 
 

Answer: C,D

 

 

Which two statements describe how parallel and inclusive gateways work? (Choose two.)
 
 
A. You specify conditions on outgoing sequence flows on a parallel gateway, but not on an
inclusive gateway. 
B. More than one outgoing path can be followed out of an inclusive gateway, but not from a
parallel gateway. 
C. For both types of gateways, a merge is used to wait for all tokens before proceeding. 
D. You can override standard mergebehavior for both types of gateways so execution can
proceed when a certain percentage of tokens have arrived at the merge. 
E. All conditions are evaluated in an inclusive gateway. 
 

Answer: A,C

 

 

You have a requirement to dynamically assign tasks at run time based on the employee’s
title. Which three could be used to accomplish this assignment? (Choose three.)
 
 
A. Use parametric roles to map the individual parametric role assignments and then map
individual users to specific titles in the workspace using extended user properties. 
B. Use parametric roles to map the individual parametric role assignments and then map
LDAP groups to specific titles in the workspace using extended user properties. 
C. In LDAP, ensure that individual users have been given titles and, in the workspace,
associate the LDAP title attribute to a parametric role. 
D. Use a business rule in the human task to dynamically assign work items to specific
users or an LDAP group based on employee title. 
E. In the process, edit the properties of the swimlane and assign a “title” string data object
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in the process payload to define a parametric role. 
 

Answer: A,B,D

 

 

Which statement is true for a BPMN subprocesses?
 
 
A. It has access to the data variables of the main process. 
B. Data have to be explicitlypassed back and forth between the main process and the
subprocess. 
C. The subprocess can be reused and called from other processes. 
D. The sequence flow inside a subprocess can be diverted and joined to the main flow
without going through an end event. 
 

Answer: C

 

 

Which two product features might a process analyst use the most in contrast to a process
developer? (Choose two.)
 
 
A. Process simulation. 
B. Business rules. 
C. Mediator services. 
D. Web Forms. 
E. BPM Studio. 
F. ADF forms. 
 

Answer: A,D

 

 

Which two features are provided on the Tasks page of Business Process Workspace?
 
 
A. Display Status for Adaptive Case Management (ACM) cases. 
B. View human tasks based on the user’s permissions and assigned groups and roles. 
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C. Create personal to-do tasks that are unassociated with a process instance. 
D. View who is currently assigned to a task that the current user has completed. 
 

Answer: B,C

Explanation: The Tasks page displays tasks for the user based on the user's permissions

and assigned groups and roles. 

Perform authorized actions on tasks in the worklist, acquire and check out shared tasks,

define personal to-do tasks, and define subtasks. 
Reference:http://docs.oracle.com/middleware/1213/bpm/bpm-
user/bpmug_ws_gt_strt.htm#BPMUG121
 
 
 

 

 

Which three actions are available when using business rules for a case? (Choose three.)
 
 
A. Activate activities. 
B. Set an activity’s relevance. 
C. Change a milestone deadline. 
D. Change a required activity to an optional activity. 
E. Modify case data. 
 

Answer: C,D,E

 

 

Which two statements accurately identify capabilities available for rules testing? (Choose
two.)
 
 
A. You can create a test suite or a test template without first creating a design function. 
B. You can test rulesets by creating a business rules function that calls the decision
function. 
C. You can use Enterprise Manager to test rules via a decision function. 
D. You can mark individual test suites as “draft” to turn them off for test validation. 
 

Answer: B,D

Explanation: You can test rulesets by creating a decision function and calling the decision

function from Rules Designer with an Oracle Business Rules function. 
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Draft Test check box to turn off the test validation. 
:http://docs.oracle.com/middleware/1213/bpm/rules-user/testing.htm#ASRUG982
 
 
 
 

 

 

Which objective can be accomplished by using business rules in workflow routing?
 
 
A. Create a new routing rule and invoke it immediately. 
B. Create new participants and make them available as targets for routing. 
C. Send a routing sleep back to the previous participant for a workflow stage that is
associated with a group vote (parallel) scenario. 
D. Make a routing decision before the task is assigned to the next routing slip participant. 
 

Answer: D

 

 

Which two statements are true about the role of Oracle Business Rules in Adaptive Case
Management (ACM)?
 
 
A. Defining business rules is mandatory to be able to build, deploy, and run an ACM
project. 
B. Business rules are used to handle case events and take specific actions on the case. 
C. Business rules are used to activate conditional case activities. 
D. Oracle Business Rules isan optional component of ACM. 
 

Answer: C,D

 

 

Which two modeling approaches could be used to handle exceptions thrown by a service?
(Choose two.)
 
 
A. subprocess 
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B. event subprocess 
C. error and event 
D. error catch event as a boundary event on the service task 
 

Answer: B,D

Explanation: You can handle the exceptions that occur in an activity using the following: 

*A boundary error catch event 

*An event subprocessBoundary error catch events enable you to resume the main process

flow after handling theexception.If you want to reuse the exception handling flow for

multiple tasks in your process, then eventsubprocesses are more efficient than boundary

catch events. Event subprocesses enable you todefine a cleaner process with less effort

because the catch error event is located within the eventsubprocess. To reuse an

exception handling flow using boundary catch events, you must define aboundary catch

event for each of the tasks, and then connect those boundary events to theexception

handling flow. 

 

 

 

 

You are testing a deployed BPM application. You start a process instance, but the
processing does not proceed as you anticipated.
 
Where would youget the most actionable troubleshooting information about your BPM
process?
 
 
A. SOA server log file 
B. Business Process Workspace Process Tracking page 
C. WebLogic Console 
D. WebLogic Diagnostic Framework (WLDF) 
E. Enterprise Manager 
 

Answer: D

 

 

Which pattern is best handled by using Adaptive Case Management?
 
 
A. straight-through processing requiring no manual intervention 
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B. deterministic, human-centric processes 
C. knowledge-based work requiring collaboration 
D. application integration processes 
 

Answer: C

 

 

Which statement is an unsupported scenario for virtualization through libOVD?
 
 
A. Dynamic groups used to determine group membership. 
B. Users and groups used for task assignment are stored in a relational database. 
C. Users and groups used for task assignment are stored in an external LDAP server or the
embedded LDAP server. 
D. Users and groups used for task assignment are stored in multiple external LDAP
servers. 
 

Answer: C

 

 

Which two statements accurately describe how Oracle Web Services Manager
works?(Choose two.)
 
 
A. On the client side, the agent coordinates a pipeline of policy interceptors that apply
policy assertions to the request in astandardized, predetermined order. 
B. On the service side, policy assertions are processed in reverse order of the client side
before the request is delivered to the service. 
C. On the client side, the policy manager coordinates a pipeline of agents that apply policy
assertions to the request in the order specified by the developer. 
D. On the service side, policy assertions are processed in the same order as on the client
side before the request is delivered to the service. 
 

Answer: A,B

 

 

Which two case elements can have due dates configured? (Choose two.)
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A. Case 
B. Case data 
C. Events 
D. Milestones 
E. Activities 
 

Answer: A,B

 

 

Which two statements are correct on the use of business objects in a BPM project?
(Choose two.)
 
 
A. A business object is defined by a complex data time. 
B. Business objects are often defined in WSDL documents. 
C. A business object can inherit data and behavior from a parent business object. 
D. You can create a business object at either the project level or the process level. 
 

Answer: B,C

 

 

Which three attributes are unique to adaptive case management-based processes as
compared to traditional BPMN-based processes? (Choose three.)
 
 
A. The sequence of execution of activities is determined by process participants at run
time. 
B. They are routine, well-defined, structured processes. 
C. New stakeholders, not just task participants, may be added at run time. 
D. They are exclusively event-driven. 
E. They involve human-centric processing. 
 

Answer: A,C,D

 

 

Which three statements are accurate about BAM 12c alerts? (Choose three.)
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